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INSTR‘UCTI()NS 10O CANDIDATES

Read the following mstrucnom edulull\ before you answer the questions.
Answers are to be gwen on llu answer-sheet. which wmbmes both the tests:

# ép i
1. Please write your Centre Code and Scat No. very clearly (only one digit in one- block).
Before writing your Scat No. et it asecrtained from the Centre Conductor. Please see
“that no block is left unfilied and even ZCt0s dpoem ting i the Centre Code and Seat No.
are - eorrectly transferred to the slm\l THHE lmlt ks on the booklet and on the answer-
sheet

Example

- |CENTRE cODE Elfr; edrcrm

- SEAT NO. 3 % _

For all subsequent purposes vour { {:ntlc (mlt, and Seat No shall remain the
same Centre once allotted will not be changed. ;

2. All questlons carry one mark each

before begmmng to answer it.

i Begm W1th the ﬁrst questlon and keep on trying one queqtton after another tlll you ﬁmsh

5. If you do not know the answer to any que stion, do not spend much time on it and pass, ~-
~.on to the next one. Time permitting you can conie back fo- the questtons whlch you -

: have left in the ﬁrst mstance and ltv tht,m di..dlll

36 Since the tlme allotted is very short you should make heet use: of it. The rough work 1s

tobe done m the box given under each pd}_.,c LY

S Remember you have to- mark on your answus in "%cholastlc Aptltude Test" Secnon.

~ of the answer«-sheet only

<. 8 .Answer to each questxon is to be md:cated in thc dnswer—sheet by encnrcltng w1tl1 blaok \
" pen in the appropnate number of alternative in the answ er-sheet from: amongst the ones

glven for the cort‘espondmg qucstlon in the test booklet

9. I)o not wnte any’thmg except Ccnm C o(lt, boat No and rough work anywhere in thls

booklet

‘Now turn to the -neitl 'Page and _Stal;t answo'ri'ng the t{l,:eétions. a0

ry do not trv to read through the whole quesnon paper e




|t SCHOLASTIC APTITUDE TEST

o - 1. Twinkling stars are seen due to

(1) irregular emission of light from stars,

R Y)) yve.ather_ changes.

(3) stars are far away
' Meﬁactiife index of air in the given region goes on changing and randomly.

2 Govemment of Indla celebrates 28 February as, 'Natlonal Smence Day in the

RN

memory of

(1) Dr Hargovmd Khurana <

(3) Dr Vlkram Sarabhai

(4) Dr APJ Abdul Kalam f :

SR g

(2) Newton S Second law of motxon

1 {3) Newtons Th1rd law of motmn ;




4.7 €alculate pressure exerted 'by a screw on the wooden plank if area of contact of

the screw is 0.5 mm? and its weight is 50 N. &0

(1) 100 x 10° N/m? .

(3) 100 x 106 N

5 5 T_he’ distal_lcc cf distinct visionis

(1) 20

)30

' .6 Observc the Columns I I and HI match them and select the correct answer

' from glvcn OptIOIlS

42950 x 106 N/m?

@50x106N |

cm.

‘-@)/25 MWl t'w“"biw%w

F(4)35"' ot s R

& el

Resistors
|in serie's- i

(@)

" Requlred to move a unit W e
positive charge fromone | (i) =5 "
. / : . Y
~ |point to another pcmt iy -

Potentlal ) (b)

dlﬁ‘erencc | resistance in a circuit.

Used to mcrcas,,c___p_ﬂ‘ectwe_ “

Elcctn'c- '

|current |

©]

[ Net charge ﬂowmg through
any cross sectionofa '(1-1.1)
i conductor in the glven tlme

R(s) =
+R +R R(n) M

Resistivity

( d) Depends on the material cf

M

'&H/A'---'Baiii' L
(2) A— ~—1v, e
(B)A d—11

(4)A a-—1

B_—'a—iv,

- the conductor

~ B-b—iii,

B-b-iij,

S Cneend D

”C%de;EJ-"D a~n

C*d*"l‘ﬂ DFc—ii e it




- 7. MRI stands for

(1) Managing Response Index
() Magnetic Resonance Index
(3) Magnetic Resonance Imaging

~ (4) Managing Response Imaging

8. ‘Which of the followmgs is not prOperty of magnetlc lmes of force

Sy The tangent at any pomt on the magnetrc lmes of pole gives the dlreetlon
of the magnetlc ﬁeld at that pomt '

.(2) No two m‘agneti_c lines of pole Can intersect eac'h- other. .

(3) Magnetlc hnes of force are crowded where the magnetlc field is strong

i and far from each other where field is weak

\)fl“hey are closed contmuous curves They start from south pole and end on

north pole

9, Select the mcorrect statement stated below related to concave mirror.
(1) Outer surface is coated with opaqtre substance \,/
(2) Inncr surface 1S pohshed and thus reﬂectwe o

3) Itis ca_ll_ed'as conver'gmg mirror. '@ g

5 \@At is used to observe the phenomenoh of refraction. X -

cut T ooteal.
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AL it L e i e, ek SRR

(4) P-Iron core, Q-Ax

10:7Observe the diagram of 'Electric DC generator, and select the correct pairing of

labelling.

’V;@?;;:-;;,ev

= é]d/P- Strong magnet Q Anneature R— Sphmng, S~Axle v

:_-(2) P Iron core Q Armeature R—Sphtnng, -Axle

i ; -"_(3) P-Stmng magnet Q—Ir@n care R Axle S~W1r¢ X

-Ax e R-Sphtrmg, S Strong magnet

.' 11 A current of 0 4A is ﬂowmg through a bulb for 3 mmutes F md the charge that .

is ﬂowmg through the cu'cult e @I -@‘
,;_--,--sz_ey_g-ff«;;ﬂp.-@ﬂzt

U)HC¥}?fﬂPﬁfdffu3€zpf1;;;*iﬁ;_-ﬂm4x

RIRE st e

(4) 450 C',', .




1 12.70bserve the adjacent ray diagram and select the correct option of position; nature

G and size of image.

(1) BeyondC Real and’ inverted, Enlarged AR AR :
\Q,)/Between c and F, Real and inverted, Dlmlmsted x/’
(3) Beyond C, Real and mverted Enlarged _

& $‘

(4) Betwween C and F, Virtual and Erect, Dlmimshcd /

(2) Resustors Rv R2 and R are connected 1n sm’lesr gy | 1S e

(3) Amrneter Al s’*cﬁnnected in senes \/f S ¥f T SO

(4) Voltlneter ’V‘ is spr,megted in parallel ‘/ 4




i 14. Which of the following Element loses and electron most easily.

(1) Na | , (2) Mg

. B)K | . Ma

15 Whlch of the followmg specles does not have electrons equal to 1% { f g
' @ |1 ] =12

(K" - | T (2) cr- e

@) CaZt - L @/ﬁ
16. Which of the following is 4 double displacément réaction.

(1) NH; + HCl —

'NH,C1 |
(-2).Cuso4(aq)'+ Fe( g—=FeS0,+Cu

- BrNaso,+ Ba,(:‘l2 b B3804 + ZN@CI

(4) Ca,co3 CaO(&)+C02() P

i . 17 The colour of anhydrous copper sulphate 1s

(I)Blue- (D White

HAAT ?’L' Ty

Ll 18 Aja}' has a stung by red ant 1t causes 1tch1;1g & 1mtqt1o;1 The stmg consust of
| wluch of the followmg acid. ' i e

(I) Acetlc ac1d aE e (2) Butync acld |

(3) Carbomc ac1d S Womnc ac1d TR I AT

t:'_

| E ;shm_s_’ SL_ x 315 _
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A, Whlch of the followmg metal does not react with dllute HCI.

(3) Ir_on. ) (4) Zinc

19. Whiéh of the following compound is alkaline in aqueous medium.

W NaCO, (2) NaCl

(3) HyCOy - (@) Cuso,

20. Which of the following compound conduct electricity in aqueous solution which

is a covalent compound.
~ (1) Calcium Chloride
(2) Hydrogen Chloride

(3 Ma_gnesium -Oxidé

@YLithium Fluoride

o splac g 3‘3(
(1) Copper _ | 'Ml_uminiﬂm i 1/3 —;mzd rE |

Co I
i

o Select a pair of homologous from the following.

(1) CzHé and C,H,,
(2)CH,COOH and C,H,COOH =
®) CHyand C,

(@) (CHy),COand CyH,CHO




I ——

(1) CH, - CH, - CH
}yCH ~CH=CH,
(3) CHy~CH=CH-CH,

@ CH3—C;_CH'

gl,yﬁ’e.+c+cf+Ni
(2) N1+C+Cr+AI
(3) Fe+Cu+AI+C

 @Fe+ZntCiNi 2

s

(1) C,H

@O/CHHZW

\(J/Y An elem.ent w:lth atomic number ’7

23. According to IUPAC rule, which of the followmg compound is prop — 1 — ene.

- 24. Stainless steél alloy is a mixture of . <+

25, Whi'ch-of -the 'followilig" éléméiits"’Will fonn an acidic oxide.

WA]] element w1th atomlc number 3 P<

3) An element with atomx_c' number 12 ><Z &0

S
T A

(4) An element wi'th_atomiobﬁmbor 19 ¥ il

_- 26, Whlch of the general formulae represents the alkyl gTOUP :

(2) C H2n +1

' (4) C’n H2n~1




" 27. Raw materiél required for photosyﬁthesis 18 colvimernin and water.
(1) Chloroplast | |
(2) Sunlightl' '
" (3) Nitrogen
(4) arbdn—dioxidé
| 28. Find the odd man
(O Ues (@ Ovy

s g (3) Vag'ina‘h o 5 ot __ ',-@/‘T‘esﬁsl

29. The prescribed limit of sound in decibles in silent zone during daytime is.

MO b @60

30, A green house gas N,O remains for how many years in the atmosphere?

= 100

e oW

e S

| 31, Inhuman being b‘io_t_'_)d goes through the heart t:lmesdurmg eachcyde 5

(4)four s




(1) Tropic movement

\(}Jét;ismonastic movement

;i i 33, Find the odd man.
e (1) Fragmentation

(3) Budding in Yeast

M2
3) 46

'_ 35 Match the cdluliil,n' .

~ 32. Response to stimulus of touch is called ...............

(2) Photo-tropic movement

3) Hyd'ro‘l-tropic movement |

: :\(Z’J/I{egenefation |

(4) Budding in Hydra

* 34. The total no. of pairs of chromosomes in human beings are ..........c....c.

sl

‘0.

@

her;ta;bllltyof acqulred charactenstlcs : E

| i) |Lamarck =~

inheritance |

| i)

| ©

natural selection -

Mendel
(@D-©)

(M) D=,
{  0o-0.
 ®0-@,

(i) - (@)

G@-() " Gi)-(b)

L E0E0L e mhu e e
(i)~ (@)

(i) ~ (¢)




36. Which plant does not belong to group. Thallophyta

MIlothﬁx 2) Spirogyra

(3) Chara - @) Eirpia

itching. | _
(1)-Phyroid -~ -t Map?hyids; -

(3) Graphyid -~ (4 Cyanide

38, From different areas of 'the br-aj’n -Whiclg is vision area? oy

Tk e o '-'.(2')"B'.

ooooooooooooooooooo

39. In female reproductive system Oifarie's_S‘ecret_ef“......-'.f.-..!“i'..';.1}iéﬁﬁ8he;;' Eon

(1).testést'e1"onl 2 . it %strogen i

~ (3) auxin - S _ i e (4) thyroxine 4

RELE B
s

S




" 40. Find the odd man.
yﬂAdianmm (2) Equisetum

(3) Selaginella |  (4) Riccia

- 41. Select the correct chr_onolog.ical. order from the giiren.
) America declared war against Ge-r’_rnany
(i1) Austri_a déclar'ed- war'-again:st Serbia

( PN
 (iii) Assassmatlon of Austrlan Prmce Francns Ferdmand

(1v) Italy entered mto war from England and Fi rances side el

O G600 (i, G, (w), 0

® (i’v)% (l) ,(111), (11) : | (4) (l) (lv), (111) (11)I' P

42, Who took lead and sacrlﬁced the cold War‘? s A i

(l) lelta Kruchev | a S

(2)'_Elsenhower i e R
(3) Truman |

i f""' el

Jm}orbochev " '

| '43 FlI‘St colony estabhshed by England in Amenca is

iA3) New-;york e R ) Netoagn S kel 1

7 5 o T -+ ¥ i ) v 1
P p——— e 2 S gty LT b 2 § i3S i %
.y ATQY . ] Rl B i
4 i K LAy 1T & G kDR T 5 i L




~44. In which continent did the first international trade revolution take place?

(1) America | (2) Aftica

Muropé i . '(4) Asia

45, Whlch one of the followmg optlons is appllcable to the 'Nanklng Treaty"?
g/)/Won the Hong Kong Island

(2) The business of opiu;m was granted

(3) Christion missionaries got permission to spread their réligion in China.

(4) A group of six ports was opened for the foreign traders.

= 46 Idéntify the incorrect pai—r- of the fo’lloWingi:-”
( 1) Assembly To observe the administration of UN.
(2) Securlty Council - Perlnlssmn tor new membershlp

(3) Economic and social comn:uttee To protect human, nghts and

ﬁmdamental rlghts

@/Secretanat — To interpret international law.

47 Find the correct optlon.of the constructi{re eﬁect of 1mpera11sm
JD/Destructlon of village autonomy '.
(2) Declme of values _
(3) Rlse of new leadersh1p

(4) Suppressmn of under depended natlons

é»NiES-}MS-SATf-SL X SIS _.




-f'-WGenefMTOjo_ i

. 5 (4) _Emperof'_ Genro _

48. Which policy of Linen was opposed by the extfemiSt'- communist leaders?_
(1) Give land to landless farmers |
(2) Allow pri\}ate industry business to a limited extend
(3) To prov:de workers with bas1c needs mstead of wages

‘/4)/ Domination of the working class in the government

i 49 In wh:ch of followmg place parallel government was not estabhshed it

w/Meemt ST e (2).Pom1a,

_(3)Baliya e e e '(4)'Mi"dhapﬁrr’-_-i

. 50 Out of f‘ollowmg whlch 1ssue was solved peacefully by the Umted Nahons? L

(1) The attack of Italy on Etthpla

. (2) -_Hltl_er's atta‘ck on A'u-'stria 53

@)’fﬁpan s attack on Manehuna b

(4) Italy s attack on Kaifu Island ’. :

: -51 'People s Party was estabhshed by e

M SultanMa_lld" A

PR AR e s _'-,_,m-_,_.r_'v,_g.},*.abQ“&-_‘)b}'.,__. " T i : 5&. e

7 ieina[EoTes]
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52. Which one of the following is not an 'Input Devices' of a computer?

(1) Key Board ~ (2) Mouse
\(S)/I‘V[onitor " (4) Scanner

53. The dlscovery of the fact that
to the world by .

(1) Newt_on ; o  : : ' @/Fﬁ)ldmant

‘the universe is not a divine creation’ was made ]

~ [[NTSMSSATSL X[ si57]

56. In the given 'diagr_ém which alphabbt i'ndiéatgs the ram shadow area A%

(3)-C0pernicﬂs Nt L | (4) Gah]eo

54 Which kmg motlvated the nav1gators in Europe‘7 .
( 1) Nlcholas (2) Pancham George

\Q):Wﬂham < : '- wﬁemy

55 W}nch Asian countxy was mvolved in Afnca s, 1mpenahstic pollcy‘? v
(1) Thailand = AR (2) Iraq -

'”,;nunrur'
L E g ARG NG e
; i uurr«'#””ffﬁf-.-.-l-'-___.;-;. 8 e
,,,,nf”l!r'i“l”-
T A S i""f ! e Gl
TR L RTE NN S AR ki 2

(II)IA".'-' |




57. is a weight loosing raw material.

Qr(,l’)/Sugar cane (2) Cotton
(3) Wool @) silk

- sy
1

| . 58. Which physical division is shown?

(1) Southern plateau region ~~ (2) Westerniplain region

"~ (3¥ Northern mountainous 'r-__egion @ Eastern coastal plain

Delhl'?

\(}Yﬁve | e o ‘k:"__.(Z)'_-:SeVen b

i1 LR ."(4)"Eight

60. AreaWISe which is the largest d1ws1on of Indla‘?
( 1) North Indian plain region :

| | \Q)(Tﬁe Indlan ;platt}au' re_gmn -

(3] Northéﬁl méunféfﬁ.()ué regidn

4) Ghat coastal plaln reglon and 1sland e e

NTS:M;} .AT-SL TXT si5

.- 59, How many state capxtals are connected by the Golden Quadrxlateral other than o




1

'61. Asia's biggest Agricultural University is at
(1) Hissar

(1--) A e ,*“’L(ZHB e m%#

g
e
i,
S

(REYREN e i B

63 Wthh of the followmg feature is not formed by the nvers of Ganga‘maiﬂ?

(1) Meanders MX-—I)OW lakes aiiaty *v?a

_ ﬁ)ﬂ\fatural levees 7 @V shapcd valley




[

(2) Maharashtra plateau

&3/ Malwa plateau 5

(4) Kamataka plateau

(1) Salpura——Mahadeo~—Ma1kal ranges

65 Wthh of the follovwng has wrong correlation

64. Which of the fo]lowmg is not the sub dmsmn of Deccan Plateau

Type of Velncle

Degreje

A Publlc_Transport.

A4

Three Wheélers‘_' 8

14

) 'Twoll wheelers |

B Profes’si‘oﬁal"féhiclé PR
C
D

Byas

(1) Malwa plateau |

__ (4).._;.Dandakataﬁﬁya_ ik

274

o .._(2) B

-} (4) D :.Ir.-'-.'-._' i e

; i :
: e LI i)
: ;T BN ) R R A

il ,i-T_i'g i'.l'?

A s I 't fh o

- me dehya I‘al.‘igeé-';q AR

[NTSMSSATSL _[X| S15 |

66 Whlch of the followmg is not the subdﬁnmon f Cgi]ti‘a’l fLngh 7?“?“ e

e 1 ..:;.,, i L, M S S
ingm l-,' M £ T By R ‘?,-, o 5N S o8
B 1 [i iy R g’f L ® !

e oL e e s e ey £ 2 1
v TS TRIOH B s ﬁ}\ i

S
—




(;7. Find the correct pair.
(1) North Mountainous region -Chilnar
\/(}} Rajasthan Plain ' t g  Dhak
(3) Deccan Plateau - g < Khipbush

(4) Punjab Haryana plain =~~~ Sandlwood

68. Find the incorrect pair.
State ~ . . i .Cbastﬁl area N ER
\})/Kdmataka | AR K_a.langut'

(2) Kerala ' il i Kofa_lai_n ;

() Maharashtra " Guhagay
R G e e Kolwa

69. Proper sequence of peaks in the eastem ghats ﬁ"om South to- NOrth
( 1) Nlmgm Mahendragm Nallamala Palkonda

(2) Palkonda, Nallamala Mahendraglﬁ Nlmgm

(3) Nallamala Palkonda, Mahendragln Nlmgm 't

&}/Nlmgm Mahendragm Pulkonda Nallamala o _ W .

70, In the mlddle ganga plam sﬂk sarees are manufactured at N :- G s i
e Ot

(3) erzapu_r S ' & (4) Bhagalpur ; G _ | gu
|

TS MSSATSL X[ 515 ]




71. Who creates government and decides the powers of the regional level

governments?
(1) Legislature
(2) Judiciary
(3) Executive £

. @/éonst-itution_

| 72 Kanshl Ram is 1984 founder _ ' party |

(1) Samajwadl Party

Mﬂhﬂj&ﬂ Vlkas Party
(3) Bahujan Samaj Party

 (4) Bharip Bahﬂjan Maha Sangh- i
73. ‘In which countly's electoral system does the vote of an 1nd1genous person have

r 1T i f-"‘

more value than that of an Indlan person‘?

: Pl s L S R
PR VV?: e AT :w_. CAsfio -t

(I) F1]1
' uij/ Estonia

~ (3) Mexico iR el A N e ()

(4) Finland =~ i L R e g

U

e ——

e g

e

———

S

et
=l



74. Due to the efforts of Eminent Social activists Anna Hazare, which right has been

passed by the Indian Government?

Mght to Relaxation

(2) Labour Rights Py

(3) Rightto Information

-+ (4) Human Rights -

} 75. Which one of the following is the first-political work of the citizen?

(1) to bring abbut.people togethar
- R@/TO caste a vote
& '(3,) to be j)resent-ét meeting conducted

i (4) to comment on the government
.- - : _ : PR

i
3

- g 76. Which offhé following is nbﬁ part '_;.)lf the.coﬁéﬂm?ﬁ&éd;eséal.-Ag_en(éies‘?_,' &

| (2 The district Forum

(3) The State Commission - _ :




77 Who will be benefited durmg Inﬂahon"
(1) Debtors _

' (2) Aperson with steady Income |

(3) Aperson mfestmg in equztles e

@6@(]11301'8

78 Monetary measures to control mﬂatlon 1s' SR 0

( 1) Reductlon in Publlc expendlture o
Q}/Increase in cash reserve ratlo .
BE)) Increase in taxes ;( e

(4) Suxplus budget |

79 Whlch of the followmg is. extremely negessary fcr;men‘? e L

(1) Car: '_

' 80 Identlfy the statement Whlch re]ates to optlmum peaulatwn"? ety

) Avallable resources are%tiet us.e*d eneugh i g@ M | ‘:- i

(2) Creates stress on avallable resources i‘*"“* L

(3) Populanon 18 not enoughto consume resources ébmpletelyr

\/)/Indmates ideal snze of populauon ofa cmmtry

i | “'""""""“ i it p e e _."'J-I?J;@J’?-I?\W.L'-- B

I} | ' f i‘:' *SA’grSL XTS5 ]




| 81. How many numbers between 10 to 300. When divided by 4, leave remamder 37

(1) 71 @n”

() 73 f o ) M ot

~ 82. Which of the followmg are the roots of the quadratic equatlon x +2Jix 6 0?
YoaBaAp o R i eEads il

83 The cxpendlture mcurred on dlﬂ'erent 1tems ina famlly is shown in the adjacent

ple dlagram If the amount of house rent 1s ? 10 000 then ﬁnd the amount ir un'ed

on educatlon |

@r000 @000
@m0 @00

e «-2»71'\*% o ?:B L #ﬂsﬁ_ & ﬁ&%gﬁ




7 ISk
84. A tram travels some dlstance ata constant speed If the speed of the traln would

have increased by ISkm/hr, then it would have requlted 2 hours less. But if the

speéd of the train would have decreased by 5km theﬁ?o cover the ;éal}xé-&istance

it would have réquifed 1 hour more. Find the distance coiféféd"ﬁy the train.
(1) 120km

(2) 240 km

(3) 360 km

(@) 400k

T o o A
) “-j] 9}‘

85, (B B)GA-E)r

O
G B

® 79@ ”@ﬁ"t’

-L—-|—2~ETZ§‘F2§ -?jg e Lo
15[7-(7:55 s rSlE %lJfJE;('f“‘L) E‘S {tH> "7~(ﬁ’*

' {7‘55#2_3 ,é'{fl ZS"H%& 3;;. =it

AW
b

Lg TS 3 X@- L)t @%)xwﬂ.f?




¥ 86. Themumber obtained by adding 12 to a natural number is 1-60-ti1i1es of the
multiplicative inverse of that natural number. Find the number, -

(1)20. = 5 2) 16
(3) 12 o wg

- 87. There are 50 cards marked W1th the numbers 1 tor 59 One card 18 drawn at' -

- random. What is the probablhty that number oxf the card is a pnme number‘?
g ‘* .10
!

I
9 g

 _.(4)1%

88 If the polynomlal x3 + 2J|r2 — 0X ~12is d1v1ded by (x 4) the remamder is 52 .

; '_ Flnd the vz_llue _of o', % e )UU

84‘%&5:._

\ L?*trztm —‘8) H&a =

| 3&«}&@ H')_ O' G ”g@m’m
gr o BeRe o

NIS-MSSATSL | X] St5 |

'&4%+1(4) ZI-OJLSD_:
e 0 dcoc-‘l?-"gz |




) | 89. Whiirtwo simultaneous equations are solved by Cramer's Rule.

Wegetx=9and D=4; If Dx:;

Isn| then find the value of m.

i
Gy 0 T (4)'9" T mﬁ"”éﬁ

' , 90 F ollong table glves the number of' trees pla‘nted b‘y thfe sﬁudaﬂts 1ﬁ’§ %h(ﬁﬂ

o 'Envuonment Day, Observe the table and find mode of the trees planted by _
. : : . ; o et e gi‘
~ the students. L Sk

1  [Numberofplans | 0-10 |10-20/20-30/30-40 '40.-'{5'0 *-Sﬁ‘é;i;;-5ﬁb.--- i
| fomootmim] 0 [0 o [w [ w]o]
o Ui e L g ‘vf ’W&fﬁ, .T,K; és,t &, o2
4 (e B e ) Vb0 g - :
-(__)- e £ ,(:_) - c,»ﬁ 3%24%3&!31—53_

-_ 91‘ Cosz30° +C0330“ Sm3(l°+sm 30"
-, Cos 30° Sm330

s O e ‘@ HEA X 315’—;—1 4(( 35,_,
ST hab '%Cg_"’-i; -H) +ZE(?)??-;3;-,_::*;- e
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| 92. 1£1an 0= 1 then find the value of Sec2rCoseed -

Cos 0 —-Sin ©

- M _ @)t

@2 @2

'- 93. Lme PQ || line AB The slope of line AB is _é_ y—mtencept of hne PQ is 3. Fmd

- X- Intercept
(1’) 3 (22

\pa% R WA

S e AR

': 94 Fmd the rat10 of the volume to total surface area of a sphere of radlus f cm.




95. Thg diametér of the base of'a cylindrical metal block is 6.6 cm aﬁd its heigkh

0.4m, How many discs of diameter 2.2 ¢m and height 0.2 cm can be cu'__'_:

this metal block ?
(1) 180

) '600_ _ _ s
@100 @u

(4) 1800 b _' ¥ 33M

"O'A(APMO) A(A RNO) = 14 then Bl s z‘ﬁﬂrfy ‘r""t

& A(APQS) A(ARQS)

e ‘,dﬂc:.fax
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9;1. Thiedongest side of a triangle is 20-cm. and other sideis 10 cm. =Thc area of the

triangle is 80 cm?. Find thé length of the témaining side of the triangle.

(1) 2465

1 ©so R ALT L L ey

«@/10\/5

@15

5 i J o owbpg § o ST o o L
i ' M (R 5 ok T 4 Y B 2. ; bRl Ui, eAARST

- 98. In the adjoining figure 'O' s the center of the circle AB = BC mZAOD =x and

it e et 1 IR # BTy
7 S g e 0 M N S !a

: 'm'z.'_’ACB =y then.ﬁn %’ w0




| 9. Intheadjoining figure if AB = 16 and CD = 40 then find the ratio of A (AOCD) -
. A(AOAB) Sy ' SR
s
(1) 5
Sl ae e e

| 100.In the adjoining figore CABCD and CIPBCQ are paralllogra
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